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WS ALS LR2e 402,327 471,750 /69,423
401 Al&EHIZL 2T 402,327 471,750 169,423
01 Al&H 399,450 471,750 72,300
OSYFT A= CCTV £X  30,000,0008 *2CH 60,000
OZREAIE &X 500,000& *30H 2 15,000
O ANeE &X 60,000 15074 9,000
ONSZES HX(LED)  15,000,0008 *2IH £ 30,000
OAtOIIZZE &X 2,500,0002 *57H A 12,500
OF2J| #X 800,000 *57H 4 4,000
ORSHEEXNT &% ¥ Fb
200,000 * 1007 2 20,000
On=gXe &X 1,000,0002 *57H A 5,000
Os2E 41X 20,000, 000! *2J & 40,000
OAIDHX Rt &4 100,000,000 100,000
O0IHIE2 RMZM 50,000,000& 50,000
ONSUBANE RS2 34,000
0tES WA 500,000 * 17 2 500
o AISHOII WA 8,000,0002 * 1 & 8,000
0SS E MOl B4 500,000% * 10 & 5,000
0Z2E MO 22 400,000 *207H 2 8.000
0EZI| B4 100,000 * 1374 & 1,300
oMOIDIZRE B4 800,000 *4H 2 3,200
OWSMEI| HFE A 1,000,0002*8IH A 8,000
OE4Al OIDIXI £E22 & 105,0002 *190CH 19,950
03 Al&S 0| 2.877 0 2,877
OnSd AN&E dxizel 2ol
399,450,000& *0.72/100 2.877
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A Z M
¥ (Hsus =4 N

SRl EXF 2el(ERF B SBIH) (25l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
=RF 2el(ERFB SEI) 630,780 593,988 36,792
HUDESE T4 62,267 61,572 695
201 Yer2 gyl 48,767 49,072 A305
01 A2l 19,607 18,672 935
OFHI &8 o) 22 42
55,0002 *6H 2 #43] 1,320
OFII &2 22 MUK K
9021 +10,00004 <23l 1,800
OF I 2P H£BX 2 3,775
0SRA 7024 %12, 50004 875
0 DA 1002 %12, 0000H 1,200
0S5 10024 %10, 0000H 1,000
oHHEN =S 7021%10,00004 700
OFFT GEXE ELEE 7Y 1,600
0 OI T 5,00021 *1004 500
052t 1,00024 *10074 100
oNREE 250,0002 *43] 1,000
ozelmelEe g4 ¢
439,000 +2CH #4444 %15 3,512
SEET 6,000
0YUREX OHAL] 6,000,000 6,000
o=l 100, 0002 %8 +23| 1,600
2 ZZ2YH 29, 160 30,400 A1,240
o2E7RY 27,520
OFXTY SBA BE  1,750+3,60021 6,300
OFATY DD DAAM LB
25021 +3,60021 900
OFML DS ST L YRSNE ¥
= 1,75021%10,00021 17,500
OFNTL DT SEF L YRSNE S
olgts 2 1,5002!+1,60021 2,400
0oATE MAZL B
1, 75021 %2021+ 122 420
OF% S8 AHLH 70,0002 x2% 140
OS2 RNSIHA 50,0002 2CH 100
oo NEX PR 700,0002 2CH 1,400
202 04t 13,500 12,500 1,000
01 =2Uloibl 3,500 12,500 1,000
oYL= oft| 13,500, 0002 13,500
A0 =X 7,000 7,000 0
307 2201 H 7,000 7,000 0
02 PIABAEE 7,000 7,000 0
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A Z M
¥ (Hsus =4 N

tel: =XE Zel(Fyel SE3A) (ctel: &
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2
OAQHHHH =& BEX 7,000,000& 7,000
FIAIE 2el 52,753 68,284 A 15,531
101 el 24,993 35,160 A 10,167
04 JI2tHIZ2E2NEE S 24,993 35,160 210,167
OEXN=XE 2eQE FY 24,993
[oR=k= 35,2003 »2H 288 20,276
omr=7Y 35,2003 x2H x5 3,661
== 35,200 x2H 152 1,056
201 LBt 2,760 2,800 A40
01 AFR22lH| 2,760 1,800 960
OEX=XE ML HHl gXE
440,000 »2E *23| 1,760
OEXNF=XE 22l 23 +Y 1,000,000& 1,000
401 AM&HIL 2048 25,000 30,324 N5,324
01 Al&H| 25,000 30,000 25,000
Og=xE AME=S X € &l
5,000,000& 5,000
OSYFXE FE T AH(25014)
20,000,000& 20,000
= 38X 2el 47,200 48,058 A 858
201 LBt A 45,200 37,040 8,160
02 3234l 45,200 28,200 17,000
O0=232z= £ WA 20,160
oCCTV M E3H AIEZ
210,000 *8IH A+ 12 20,160
OAl & EHI= Xl 19,200
o FEA LEI e AlIAE HulwX
300,000 »5CH*43] 6,000
o =& FeltEItHet KA
220,000 x5CHx 12 13,200
OXt&| 5,840
oY KRR
1,600& #1002 Ef x2CH = 12& 3,840
oH&XtE AUl |®XIBl 100,000 *2CH*103 2,000
401 AlEHIZ 2 2,000 0 2,000
01 Al&H| 2,000 0 2,000
OusotdEX#E 4x & Fl
200, 000& * 1074 2 2,000
ollgl gl 461,560 409,074 52,486
801 oiigldl 461,560 409,074 52,486
01 ollBlbl 461,560 409,074 52,486
oollgldl 461,560,000& 461,560
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SA AHD
Ho: S SAAH (ZH D)

SETESTE=E N (el &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
HMSHAH (Z M) 84,372 71,333 13,039
Jl22& | 52,998 56,383 N 3,385
J|2&l 52,998 56,383 N 3,385
201 dEt24d| 31,998 35,383 N 3,385
01 AFE22elbl 29,973 32,683 N2,710
Oget=2H| 25,973
o AIRE &b 70,000& x22H *23| 3,080
o EWIZIHI EY 225,000& *6CH 4 3| 5,400
oZtEEEHI EY
439,000 *1CH*424 %1 53] 2,634
oZgle A2EH| 50,000 *6CH *x2.53] 750
o =AM EYH 375,000& = 1CH*33] 1,125
o =EAEX] 5,544
—A 22,000& 222 «83| 3,872
—B4 38,0003 *x22H x23| 1,672
odlER=EE 70,000 *12& 840
0 RNSE2YHI 25,0003 x22H x12& 6,600
O3 &l 4,000
oSUAL2=A IHAIHI(BE) 4,000,000 4,000
02 s394l 2,025 2,700 NB75
Os322 % HA 2,025
oBSRERS 250 x1500H 122 450
0SIIRER= 1,750& x7500 12& 1,575
202 (4l 21,000 21,000 0
01 2| 21,000 21,000 0
OSlotALRFX HHI(BS) 21,000,000 21,000
OlEASAHY| (=& SE3lH) 31,374 14,950 16,424
ol d| 31,374 14,950 16,424
101 ol 21H| 31,374 14,950 16,424
03 RIHLZ 22 31,374 14,950 16,424
OFXNHERA o182 31,374
A l=! 36,520 x2H x255 18,626
o a=g=3c1 36,520& x2H x5 3,799
R A== 36,520& x2H x 15 1,096
oati= 18,626,000& *4/12 6,209
oA Z2tRILE 6,850 *10A| 2Hx2H x 12& 1,644
WRES (JHI) 4,077,500 5, 153,500 A 1,076,000
= 375,000
& 3,000,000
o 702,500




A Z M
M RS (ZMD)

&2 WRANHX S (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 01l &k o e HRE2

LHEHHXI = 4,077,500 5,153,500 A 1,076,000
= 375,000
= 3,000,000
= 702,500

UBMAEIT =4 3,073,500 5,073,500 22,000,000
= 3,000,000
= 73,500

701 DIt HE =3 3,073,500 5,073,500 22,000,000
= 3,000,000
= 73,500

01 JIEtI HEE= 3,073,500 5,073,500 22,000,000
OXg=z Olktastt 8= 73,500,000& 73,500
(O1000+1000KI & AtHHI &=  3,000,000,000& 3,000,000
L= 3,000,000

SATHesSHA =4 924,000 0 924,000
& 375,000
= 549,000

701 JIEtI HE =S 924,000 0 924,000
= 375,000
i 549,000

01 JIEtSI AN ES 924,000 0 924,000
O&2ZH2=s3EX 248U &= 924,000,000 924,000
= 375,000
= 549,000

=IE SEE3 A 80,000 80,000 0

701 JIEfSI HE =3 80,000 80,000 0

01 JIEt2I AN E= 80,000 80,000 0
OFXE E83H d== 80,000, 000& 80,000
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